Progress Probe #1545776: Biology 3rd 9 weeks The History Of Primate Evolution Feb. 13, 2012 (Grade HS BI)

	Teacher Key with Answers

	Ques
	Answer
	Level
	Skill
	Subskill
	Item #

	1
	B  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109500

	2
	D  
	Hard  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.3 New Species Emergence [99257]
	D109489

	3
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D67015

	4
	A  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D56117

	5
	B  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D51645

	6
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D82972

	7
	A  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D62805

	8
	C  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.4 Biodiversity & Adaptation [99258]
	D55168

	9
	B  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81367

	10
	C  
	Easy  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81252

	11
	D  
	Moderate  
	Standard 5 - Biodiversity and Change  
	SPI 3210.5.5 Classification Evidence [99259]
	D81365
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	Question 1 of 11

	Survival is a direct indicator of an animal's fitness for life in her ecological niche. 

What is another direct indicator of an individual's fitness?
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	A.
	the ability to learn behaviors 
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	B.
	the ability to reproduce
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	C.
	membership in a herd or pack
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	D.
	a lack of genetic mutations

	 


	Question 2 of 11

	How do genetic mutations help new species emerge?
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	A.
	They can produce a change that interferes with processes that are necessary for survival.

	[image: image6.wmf]  
	B.
	They can go undetected in the genome until two individuals carrying the mutation reproduce.
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	C.
	They can occur in the replication of DNA during the cell cycle.
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	D.
	They can confer a survival advantage that is passed on to future generations.
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According to the classification chart, which two organisms are most closely related?
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	A.
	Stellars sea lion and Northern fur seal
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	B.
	walrus and Stellars sea lion
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	C.
	Northern fur seal and walrus
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	D.
	walrus and lion
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	Several goldfinches (birds) inhabit an area. They grow and reproduce well as long as thistle seeds are available for their food. The thistle plants reduce in number and sunflower seeds are available. The goldfinches that eat sunflower seeds survive and produce offspring that eat sunflower seeds. This illustrates
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	A.
	natural selection.
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	B.
	selective breeding.
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	C.
	random sampling.
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	D.
	the need for specific bird feed.
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	Dan, a horse trainer, breeds horses for racing. He is given the name of a man who owns a horse who is a Triple Crown winner. Dan wants to breed his mare with this champion horse. Which term best describes how a mate is chosen for Dan's horse?
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	A.
	natural selection
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	B.
	selective breeding
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	C.
	in vitro fertilization
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	D.
	asexual reproduction

	 


	Question 6 of 11

	Use the chart to answer the following question. 
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Which two organisms are most closely related?
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	A.
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	B.
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	C.
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	D.
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	Question 7 of 11

	Breeding of thoroughbred horses is a major industry in Kentucky. One of the desired characteristics is racing speed. About 40% of an animal's running speed is determined by heredity. Therefore, breeders ideally mate fast running females to fast running males. This is an example of
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	A.
	selective breeding

	[image: image36.wmf]  
	B.
	replictation
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	C.
	natural selection

	[image: image38.wmf]  
	D.
	asexual reproduction

	 


	Question 8 of 11

	Coyotes are natural predators of rabbits. When the rabbit popuation goes up, the coyote populaton soon follows. When the coyote population peaks, the rabbit population decreases. Which of the following explains the decreas in the rabbit population?
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	A.
	asexual reproduction
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	B.
	sexual reproduction
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	C.
	natural selection
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	D.
	selective breeding

	 


	Question 9 of 11

	Use the dichotomous key to identify the organism shown below. 
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	A.
	Southern yellow pine
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	B.
	Eastern white pine

	[image: image46.wmf]  
	C.
	sugar maple
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	D.
	silver maple

	 


	Question 10 of 11

	Use the dichotomous key to answer the following question. 

[image: image48.png]3. Leaf with only one blade
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The leaf shown came from which genus of tree? 
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	A.
	Larix
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	B.
	Pinus
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	C.
	Acer
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	D.
	Carya

	 


	Question 11 of 11

	The cladogram shown is representative of the animal kingdom. 
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Which organisms would have claws or nails, but not feathers?
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	A.
	salamander, hagfish, and trout
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	B.
	lizard, owl, and mouse
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	C.
	salamander, lizard, and owl
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	D.
	lizard, chimp, and mouse
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